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@ Geometry and Density Practice
)Aw ) mass
ooden cube has an edge length of 6 centimeters and a mass of 137.8 Density =
grams. Determine the density of the cube, to the nearest thousandth. volume
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2) A shipping container is in the shape of a right rectangular prism with a length of 12 feet, a width of 8.5 feet,
and a height of 4 feet. The container is completely filled with contents that weigh on average, 0.25 pound
per cubic foot. What is the weight, in pounds, of the contents of the container?
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‘ 3) A machinist creates a solid steel part for a wind turbine engine. The part has a volume of 1,015 cubic
centimeters. Steel can be purchased for $0.29 per kilogram, and has a density of .00795 kg/cma. If the
machinist makes 500 of these parts, what is the cost of the steel, to the nearest dollar?
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4) A hemispherical tank is filled with water and has a diameter of 20ft. The tank contains 1,047 cubic feet of
water. What percent of the tank is empty? Y = 10
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5a) A contractor needs to purchase 300 bricks. The dimensions of each brick are .51 m by .12 m by .23 m,
and the density of each brick is 1920 pounds/m®. Find the average mass of each boulder in pounds.
(Round to the nearest tenth of a pound)

\/‘or\'QK‘ Lﬁl\x(.\'ﬂ(.l’ﬁ\-’- .0\40 Tl o~
1420 =

™
oior, ((m=11.0 tos |
by

b) The maximum carrying capacity of the contractor’s trailer is 900 Ibs. Can the trailer hold the weight of 300
bricks? If no, how many trips will the contractor need to make to transport all of the bricks.
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